User Manual
& Warranty

Quick Start
Introduction

Preparation

Mounting

Specifications
Important Safety Instructions
Compatibility

Troubleshooting Procedures

Warranty
Regulatory Compliance

S L1k L1 L1 LW =

Rear View

Button
Long press to turn-on or
turn-off the device.

High Definition Lens
170-degree field of view.

Charging Port
Must unplug the charging cord
and close the cap after charging.

Front View

LED Indicator

Charging and wireless
Anti-Theft Screw connection status.
Quick install and remove.

- P1 -



Introduction

The ZUS Wireless Smart Backup Camera 2.0 is easy to install and built to
fit your license plate. Install in just 10 minutes and get 170-degree field of
view right on your smartphone.

At a Glance

(C]

)
D

Backup Camera x 1 M6 Flat-Head Long Screw x 2
Mounting Plate x 1 M6 Socket-Cap Long Screw x 2
USB Charging Cable x 1 Mé Flat-Head Short Screw x 2
Heavy Duty Mounting Tape x 1 Mé Flat-Head Self-Taping Screw x 2
Screwdriver x 1 M5 Flat-Head Long Screw x 2
Hex Wrench x 1 M5 Socket-Cap Long Screw x 2
Manual x 1 Mé Locking Nut x 2

Nut Cap x 2

Preparation: Charging, App Download & Pairing

IMPORTANT:

@ Fully Charge the Device

©.
H o 1o RED
Connect the charging cord to the The front LED will turn RED when
Backup Camera. Then, plug the charging.

charging cord into a USB charger.

Once the battery is fully charged, the Disconnect the charging cable. Close
LED will turn Green. (At least 5 hours]  the cap.

- P2 -

0 Activate the Device

TN

@
@ Long Press
@

Activate device by long pressing the button until LED light blinking green for 3 times.

wnioad on the Geron
a App Store ’ Google Play

Search for “ZUS” on the Apple App Store or Google Play. After download the
app to your mobile phone, open the ZUS app and click on “add a Smart
Backup Camera”. Follow the installation steps on the ZUS app.



Mounting

*Only mount the device after you've completed all the Preparation Steps.
*If your license plate doesn't fit none of the following standards, please
refer to a relevant mounting guide.

Remove license plate from your car and proceed with
one of the installation methods below.

Identify your license plate type:

° 2018

If your registration sticker is located at the top of your license plate AND
there are only TWO screw holes on the back of your car,
please proceed with installation Method 1.

JAN ° 2018

If your registration sticker is located at the top of your license plate AND
there are FOUR screw holes on the back of your car,
please proceed with installation Method 2.

JAN o o 2018

If your registration sticker is located at the bottom of your license plate,
please proceed with installation Method 3.

Method 1

[ LA

Mé Flat-Head Short Screw x 2
Mé Locking Nut x 2

0 Align the top two holes of the mounting plate to the bottom
two holes of the license plate.

Secure the mounting plate to the license plate with the M6
flat-head short screws and the M6 hex nuts. Tighten with the
provided hex wrench and screwdriver.

-

Heavy Duty Mounting Tape x 1
NutCapx2

e Affix the nut caps onto the hex nuts. Peel the mounting strip
and attach firmly to the back of the license plate.

- p3 -

Mé Socket-Cap Long Screw x 2

0 Reattach your license plate to your car with the Mé socket-cap
long screws [certain cars may require M5 socket-cap long screws
instead). Place your ZUS Smart Backup Camera on the mounting

plate and tighten the security screws with the screwdriver.



Method 2

P

M6 Socket-Cap Long Screw x 2

o /

G Reattach the license plate to your car with the two M6 socket-cap
long screws. Certain cars may require M5 socket-cap long screws

instead.

M Flat-Head Long Screw x 2

OAlign the top two holes of the mounting plate with the bottom
two holes of your license plate.

Secure the mounting plate to the license plate with the Mé
flat-head long screws. Certain cars may require M5 flat-head
long screws instead. Tighten with the screwdriver.

\“\

o

%

9 Place your ZUS Smart Backup Camera on the mounting
plate and tighten the security screws with the screwdriver.

— P4 —

Method 3

Mé Flat-Head Long Screw x 2

.

o Align the bottom two holes of the mounting plate with the
top two holes of your license plate and the top screw holes on
the back of your car.

Secure the mounting plate with the M6 flat-head long screws
(certain cars may require M5 flat-head long screws instead).
Tighten them with the provided screwdriver.

4 N

. /

9 Place your ZUS Smart Backup Camera on the mounting
plate and tighten the security screws with the screwdriver.




Specifications

Features Specifications

Size 1.29x10.74 x 1.14in / 33 x 273 x 29 mm
Weight 8.480z/240.4g

Batteries 2 x 18650 (Total 5200 mAh)

Camera Panasonic 34120

Lens 170 HD wide-angle lens

Operating Temperature -4 °F ~122°F/-20°C~50°C

Storage Temperature -40 °F ~ 176 °F / -40 °C ~ 80 °C
Wireless Connection wil:t;ilgﬁz'n

Important Safety Instructions

Do not submerge or expose to water for an extended period of time.
Do not place near any open flame sources.

Do not disassemble.

Avoid dropping.

Compatibility

Compatible with most smartphones and tablets that support Bluetooth and
wifi connection, such as iPhone, iPad, Samsung, LG, HTC, Google Nexus,
and etc.

Troubleshooting Procedures

Please check the following if unable to pair
the Backup Camera:

1. Pair the device in the ZUS APP instead of via your phone's Bluetooth
settings menu.

2. For Android users, please allow location access for ZUS App to pair with
devices when using Bluetooth.

3. Long pressing the button on the back till you see the green LED blinks 3
times to activate the device; pairing Backup Camera only works when the
device is activated.

Please check our FAQ (http://nonda.zendesk.com) for more
troubleshooting procedures if problem not solved.

No NDA inc. One year Warranty

nonda warrants that your nonda hardware product (the “Product”) will be
free from defects in materials and workmanship under normal use for a
period of one (1) year from the date of delivery.

REMEDIES

If a hardware defect in the Product arises and a valid claim is received
within the Warranty Period, nonda will, at its sole option and subject to
applicable laws: (a) repair the Product at no charge with a new or
refurbished component or (b) replace the Product with a new or
refurbished Product upon return of the defective Product. This Warranty
does not apply to Products you purchased from unauthorized resellers, or
where the instructions for use and activation of the Product are not
complied with or where the Product is damaged as a result of abuse,
accident, modification or other causes beyond our reasonable control. Any
replacement product will be warranted for the remainder of the original
warranty period or 30 calendar days, whichever is longer.

EXCLUSIONS AND LIMITATIONS

This Limited Warranty applies only to the original purchaser of Product
that was purchased from an authorized retailer or sales channel.
Non-authorized 3rd party receipts or order numbers are NOT accepted for
warranty verification. Without limiting the foregoing, the Limited Warranty
does not apply to any (a) nonda products and services other than the

- P5—

Product, (b) Product that is, or nonda reasonably believes to be, stolen, (c)
to damage caused by accident, abuse, misuse, flood, fire, earthquake or
other external causes; (d) to damage caused by operating the Product
outside the permitted or intended uses described by nonda or with
improper voltage or power supply;

OBTAIN WARRANTY SERVICES

To obtain remedies under this Warranty, nonda must receive your claim
before the end of the Warranty Period. You also must deliver the Product,
in either its original packaging or packaging providing an equal degree of
protection, to the address specified by nonda. Consumer shall bear the
cost of shipping the device to nonda. By sending the Device, consumer
agrees to transfer ownership to nonda. nonda may not return the original
device to consumer. If the claim is justified based on this Warranty, nonda
shall bear the cost of shipping the repaired or replacement device to the
Consumer.

How to Make a Warranty Claim

Read through our warranty above. If you believe you are covered by the

warranty, please prepare the following documents and email them to

csfdnonda.us.

1. A copy or screenshot of the original purchase invoice to verify your
warranty (order ID, purchase date, website or store)

2. A description of the problem with a photo illustrating the physical
damage

3. Your shipping address including name, postal code and phone number

If you need software support only, you may contact us with your app

account and phone operation system. We would be glad to help.

Please note that, in the European Union, any warranty period less than two
years shall be increased to two years.



Regulatory Compliance

FCC Compliance Statement FCC ID: 2AFZB-ZURCBKUALZ

NOTE: This equipment has been tested and found to comply with the limits
for a Class B digital device, pursuant to part 15 of the FCC Rules. These
limits are designed to provide reasonable protection against harmful
interference in a residential installation. This equipment generates uses
and can radiate radio frequency energy and, if not installed and used in
accordance with the instructions, may cause harmful interference to radio
communications. However, there is no guarantee that interference will not
occur in a particular installation. If this equipment does cause harmful
interference to radio or television reception, which can be determined by
turning the equipment off and on, the user is encouraged to try to correct
the interference by one or more of the following measures:
—Reorient or relocate the receiving antenna.
—Increase the separation between the equipment and receiver.
—Connect the equipment into an outlet on a circuit different from that to
which the receiver is connected.
—Consult the dealer or an experienced radio/TV technician for help.

Changes or modifications not expressly approved by the party responsible

for compliance could void the user’s authority to operate the equipment.

This device complies with Part 15 of the FCC Rules. Operation is subject to

the following two conditions:

(1) this device may not cause harmful interference, and

(2) this device must accept any interference received, including
interference that may cause undesired operation.

This device is acting as slave and operating in the 2.4 GHz (2412 ~2462 MHz)
band. Ad Hoc function is supported but not able to operate on non-US
frequencies.

FCC Radio Frequency Exposure Statement
The device has been evaluated to meet general RF exposure

requirements. The device can be used in fixed/mobile exposure
conditions. The min separation distance is 20cm.

—P6—

Declaration of Conformity c €

Refer to article 10(9), shall be provided as follows:

Hereby, No NDA inc. declares that the radio equipment type Wireless Smart
Backup Camera is in compliance with Directive 2014/53/EU.

The full text of the EU declaration of conformity is available at the following
Internet address: https://www.nonda.co/pages/regulation/.

Please note that, in the European Union, any warranty period less than two
years shall be increased to two years.

Manufacturer: No NDA Inc.

Address: 320 Mountain View Avenue, Mountain View, CA 94041 USA.

Developed by nonda in California. Assembled in China.
No NDA Inc., 320 Mountain View Avenue, Mountain View, CA 94041, USA.
No NDA Inc., Giinther-Wagner-Allee 13, 30177 Hannover, Germany.
www.nonda.co | TM and © 2017 No NDA Inc. All rights reserved.



